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	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N6.2, N6.3, NDB6.1, NDB6.3


13 marks - 1 mark each)

a)

Calculate each of the following:








i)

–4 + –3














ii)

24 ÷ −6














iii)

3(5x−3 – 4)
+ 2x–5

b)

Solve each of the following:  


i)
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c)

Simplify and/or write in index form:

i) 
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d)

Simplify the surd:
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e)

Evaluate:
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Question 2 (PA6.2, PADB6.2



13 marks)

a)
Find the gradient and the y-intercept, and draw a rough sketch of the line:  y
=

–2x + 3





(3)
b)

Find the equation of the line that has:





i)


a gradient of 3 and a y-intercept of –1












































(1)




ii
)


a gradient of 1 and passes through the point (1,5)

































(2)
c)
Use either the substitution or elimination method to solve the following pairs of simultaneous equations:

2x + 
y = 9












3x –  y = 1





























































(2)
d)

Solve the following quadratic equation by factorisation:

x2 + 3x – 4 = 0



















(2)
e)

Use the quadratic formula to solve the following quadratic:  
5x2 – 2x – 4 = 0















(3)
Question 3 (M6.1, MDB6.1



6 marks)





Use a combination of Pythagoras' theorem and the sin, cos, and tan





ratios to find the unknowns in each of the following triangles:





i)








































ii)











































































































(6)

Question 4 (CD6.2, CDDB6.2



4 marks)


Investigating the results of a two year cholesterol awareness program, the health officer collected the following cholesterol levels (millimoles/litre) before and after the program.  Analyse the data and make a comment.




























































(4)
	Cholesterol (before) 
	Cholesterol (after)

	
5.6

4.8

4.8

5.6

5.6

5.8

4.8


4.6

5.2

5.6

5.8

4.8
	
4.2

5.4

5.2

4.6

5.2

4.8

4.8



4.6

4.8

5.0

4.8

5.2
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	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N6.2, N6.3, NDB6.1, NDB6.3


13 marks - 1 mark each)

a)

Calculate each of the following:








i)

–5 + 4















ii)

21 ÷ −7














iii)

2(2x−1 – 4)
+ –2x–4
b)

Solve each of the following:  


i)
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ii) 
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c)

Simplify and/or write in index form:

i) 
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iv)
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v) 
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vi) 
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d)

Simplify the surd:
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e)

Evaluate:
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Question 2 (PA6.2, PADB6.2



13 marks)

a)
Find the gradient and the y-intercept, and draw a rough sketch of the line:  y
=

–3x + 2





(3)
b)

Find the equation of the line that has:





i)


a gradient of 2 and a y-intercept of –5












































(1)




ii
)


a gradient of 1 and passes through the point (1,2)

































(2)
c)
Use either the substitution or elimination method to solve the following pairs of simultaneous equations:

2x + 3y
= 13












2x +  y 
= 7




























































(2)
d)

Solve the following quadratic equation by factorisation:

x2 + 2x – 3 = 0



















(2)
e)

Use the quadratic formula to solve the following quadratic:  
3x2 + 2x – 1 = 0















(3)
Question 3 (M6.1, MDB6.1



6 marks)





Use a combination of Pythagoras' theorem and the sin, cos, and tan





ratios to find the unknowns in each of the following triangles:





i)








































ii)











































































































(6)

Question 4 (CD6.2, CDDB6.2



4 marks)


Form 10A believe that they are a better mathematics class than 10B and present the following results from the Term 3 test.  Analyse the data and make a comment.




















(4)
	10A 
	10B

	
95

85

90

65

60

85

70

85

70

75

90

85

70

65
	
75

80

60

85

90

70
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	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N6.2, N6.3, NDB6.1, NDB6.3


13 marks - 1 mark each)

a)

Calculate each of the following:








i)

–2 + 5















ii)

−20 ÷ −4













iii)

5(1x−3 – 2)
+ –3x–2
b)

Solve each of the following:  


i)
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ii) 
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c)

Simplify and/or write in index form:

i) 
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v) 
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vi) 
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d)

Simplify the surd:
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e)

Evaluate:
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Question 2 (PA6.2, PADB6.2



13 marks)

a)
Find the gradient and the y-intercept, and draw a rough sketch of the line:  y
=

–2x + 4





(3)
b)

Find the equation of the line that has:





i)


a gradient of 3 and a y-intercept of –1












































(1)




ii
)


a gradient of 2 and passes through the point (3, 1)

































(2)
c)
Use either the substitution or elimination method to solve the following pairs of simultaneous equations:

2x + 2y

= 14













3x –

2y
= 11


























































(2)
d)

Solve the following quadratic equation by factorisation:

x2 + 4x – 5 = 0



















(2)
e)

Use the quadratic formula to solve the following quadratic:  
2x2 + 3x – 2 = 0















(3)
Question 3 (M6.1, MDB6.1



6 marks)





Use a combination of Pythagoras' theorem and the sin, cos, and tan





ratios to find the unknowns in each of the following triangles:





i)
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(6)

Question 4 (CD6.2, CDDB6.2



4 marks)


The tourist development authority is interested in the effects of their recent promotion campaign.  The number of daily enquiries both before and after the campaign are tabled below.  Analyse the data and make a comment.

























































(4)
	Before 
	After
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